@D x> +6x*3=0

11/28/12 The Discriminant

In the quadratic equation x = —btjm

Jon
b -Yac s called the discriminant. The
discriminant tells us about what kind of roots

(answers) we will have.

*If the discriminant is positive (+) then we will have
two real distinct roots.

‘It it's zero, (0), then we will have 1 real double root.
-If it's negative (-) then we will have 2 imaginary roots

Determine ¥he e & fhe Roots.

a=| b= c=3
b—=Yac = 36 —4¢()(3)
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A=Y p=12 =19

+4y* +Hiy? b= Yac = 144 - Y(4)(9D
Yy?+2Ly +1= 0 = 1444 (56)
S04y ~ 1y Y
= 0

o T wll have 1 real
douwblt sot.



